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— AR AT B - - 17,176, 125
01 3202840010100 49, 245, 000 - 49, 245, 000 21,120, 000 3,394, 474 3, 943, 875
— AT B = - 17,176,125
01 3202840010101 48, 534, 000 - 48, 534, 000 21, 000, 000 3, 357, 469 3, 900, 050
AEHIEHE = = 17, 099, 950
10 100000 48, 534, 000 ~ 48, 534, 000 21, 000, 000 3, 357, 469 3, 900, 050
AEE =t = 17,099, 950
02 3202840010102 711, 000 - 711, 000 120, 000 37,005 43, 825
B ARATH T AR 445 E - 76,175
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(%% = 33,572
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A PR - - 11, 322
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- - - 6, 899
01 7602840010000 1,113, 369 - 1,113, 369 1,113, 369 362, 562
NFE A BRI R AR Sp 454t = - 1,113, 369
01 7602840010100 1,113, 369 = 1,113, 369 1,113, 369 362, 562
NFE AN IRAR R M dp 454t = - 1,113, 369
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AEE = 1,113, 369
01 8902840010000 117, 680 117, 680 117, 680 58, 840 -
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01 8902840010100 117, 680 117, 680 117, 680 58, 840
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